MAT 221
Extra Practice, Logic, Part B (arguments)
SOLUTIONS


1. Discuss if the following argument is valid or invalid. 
	If Larry received a receipt, then his charity contribution is tax deductible.


	Larry did not receive a receipt.

	Therefore, his charity contribution is not tax deductible.


Legend: 

p:  Larry received a receipt.






q:  Larry’s charity contribution is tax deductible.
Argument in symbols: 

Premise 1: 
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     Is the argument valid? (Answer and short explanation.)

Invalid argument, since it does not match one of the known valid argument forms. 

(This case is referred to as a fallacy of denying the antecedent. Even if Larry did not receive a receipt, it is possible that he can prove that he made the contribution in some other acceptable way.)

2. Discuss if the following argument is valid or invalid. 

	If Emily runs for office, then she will do the fundraiser.



	Emily does not do the fundraiser.

	Therefore, Emily does not run for office.


Legend: 

p:  Emily runs for office.






q:  Emily does the fundraiser.
Argument in symbols: 

Premise 1: 
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Premise 2: 
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     Is the argument valid? (Answer and short explanation.)


Valid argument, since it is a Modus Tollens.

3. Discuss if the following argument is valid or invalid.

	If you pass the Praxis test, then you transfer to a 4 year school.



	If you transfer to a 4 year school, then you will apply to study abroad.



	If you apply to study abroad, then you may go to Australia.



	Therefore, if you pass the Praxis test, then you may go to Australia.


Legend: 

p:  You pass the Praxis test.






q:  You transfer to a 4 year school.




r:  You apply to study abroad.




s:  You may go to Australia
Argument in symbols: 

Premise 1: 
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Premise 2: 
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Premise 3: 
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4. Discuss, if the following argument is valid or invalid.

	Judy is an office assistant or she orders office supplies.


	Judy orders office supplies.

	Therefore, Judy is an office assistant.


Legend: 

p:  Judy is an office assistant.






q:  Judy orders office supplies.
Argument in symbols: 
Premise 1: 
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Premise 2: 
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     Is the argument valid? (Answer and short explanation.)


Invalid argument, since it does not match one of the known valid argument forms.

A disjunction (“or” statement) is fulfilled when one of the two parts are fulfilled. Since q was affirmed, we can make no conclusion about whether or not p is also fulfilled. Note: This would be different in a conjunction, i.e. in an “and” statement.)

5. Discuss if the following argument is valid or invalid. 

	If I am in a meeting, then the call will be directed to voice mail.


	The call was directed to voice mail.

	Therefore, I was in a meeting.


Legend: 

p:  I am in a meeting.





q:  The call will be directed to voice mail.

Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion: 
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Is the argument valid? (Answer and short explanation.)


Valid argument, this is a Hypothetical Syllogism.








Is the argument valid? (Answer and short explanation.)


Invalid argument, since it does not match one of the known valid argument forms. This is also referred to as affirming the consequent. (Maybe I was sick that day, or I was teaching a class when the call came in.)
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